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Geometry 104
Find measures of inscribed angles
Find measures of the angles contained inanscribed polygons

central angle
inscribed
inscribed angle
arc

intercepted arc



Case 1

2%
Center Pis on a side of the

inscribed angle.

N\

Case 2

\

Center Pis insidghg(lnscribed
angle.

The center Pis in the exterior
of the inscribed angle.

Theorem 10.6 Inscribed Angle Theorem

Words

Example

If an angle is inscribed in a circle, then the measure

of the angle equals one half the measure of its

intercepted arc.
msl1 = %m@ and mAB = 2m/1



Find each measure.
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Theorem 10.7

Words If two inscribed angles of a circle intercept
the same arc or congruent arcs, then the
angles are congruent.

Example ZBand ZC both intercept AD. So, ZB= ZC.
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Angle = 1/2 arc

Theorem 10.8

Words An inscribed angle of a triangle intercepts
a diameter or semicircle if and only if the
angle is a right angle.

Example Iif FMHis a semicircle, then mZ6=90.f m£6G=90, —F

then FJH s a semicircle and FH is a diameter,
—————
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4, IfmLF =7x + 2and m£ZH = 17x — 8, find x.
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Theorem 10.9

Words If a quadrilateral is inscribed in a circle, then its
opposite angles are supplementary.

Example If quadrilateral KLMN is inscribed in ©A, then ZL and ZN
are supplementary and ZKand £ M are supplementary.

Both arcs (sum) = 360°
(why?)




» JEWELRY The necklace charm shown uses a 1~ -30

quadrilateral inscribed in a circle. Find 1 42 =30
mZA and mZB. |
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5. Quadrilateral WXYZ is inscribed
in OV, Find mZX and m2Y.




